10.

11.

2
W@WW%W(%I
arerar
M AR FATST BT T 3T HY 99 Fhdl © ?
TETed! ant & AR Heet far forRay |
arerar
AUl BT I’ e IR 30 fIaR =rad BT |
I & THRT H fed T Bl HH H FASE |
arerar
EH B ATAR I BT G4 AT B 7
fawra awere forg 799 & fa wrat &1 el @ed @ forfag |
arerar
AR e # T -1 aTeRIerall BT Seeikd faar B ford |
Qg q

<rd ST e 3X5=15

RIS IR &1 AR foRay |
arerar

2=l # gvf fouR 31 SRR TR T DIV |

& 3R IeEATE & AR IR AT & of faeyany foRau |
arerar

YRS AF $ R M R A B {59 yeR drer ggamr 2 ?

I DI Gl Bl & B T Hfd SR ¥ ARIIRIAT DI DIF—aT

e fear g |
arerar
HFISR B ATPR W TP o ford |
dred! IR’ Hfadr # fARTem 5 w1 |ewr far 2
arerar
TRy 3R AT H FRIT JfR T SR THR T DIT |
et ure’ Ey @ faRant faRau |
arerar
Tl AR BR AR e BT AR IR |
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0C-301-S
B.Com. -1II Year, Supplementary Exam - 2020-21
Subject - Foundation Course

Paper - 1
(&= w1 iR Afa® o)
M.M. - 30
Are - Y U g PR |
gus 3’
IS g
1. e IR g - 1X5=5
(i) R arE @ fdeFe 7 w9 foar o
() 11 FIdR 1994 (b) 11 fd=R 1893
(c) 10 fdHR 1893 (d 11 fd=R 1892
(i) et ure foram T 7 -
(a T FEAA (b) T ATHBAT |
(c)  9Rd @ HarFl | (d |9 TTH
(i) . TG B ARA A DI U H He AP gy -
(a) 1997 (b) 1990
(c) 1998 (d) 1989
(iv) T &7 RIS AFTHR R
(@)  wETcdr gAl (b)  GIKTHAN AEH
(c) T EdE (d R
(v) e BHA H B AT T §
(@)  HHIRY (b) TEIfE
() TGy d fa7
s ‘g
oY IR U 2X5=10
2. s SR WRRT ga 5 J1aeT & ST =med ¢ |
arerar

HETHT e Taaer= T Ui & uer | oy
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B.Com. II - Year, Supplementary Exam -2020-21

Subject - Foundation Course

Paper - 11
(English Language)
M.M. 30
Note : Attempt all questions.
(Section-A)
(Objective Type Questions)
1. Choose the correct answer : 1X5=5
) Tina Morrisis a/an ..................
(a) British poet (b) American poet
(c) Canadian poet (d) Indian Poet
(i1) In the poem 'Night ofthe scorpion' who was stung by the scorpion?
(a) Poet (b) Poets mother
(¢ Poet's Grand mother  (d) None of the above
(iii) 'ldgah' is written by ............
(a) Sarojini Naidu (b) R.K. Narayan
(c) Premchand (d) Khushwant singh
(iv)  Lenchoisa firmbelieverin.................
(a) Desting (b) Luck
() God (d) Hard work
v) Who was Ivan Omitrich Aksionov?
(a) A merchant (b) A Criminal
(¢ A traveller (d) A Soldier
(Section-B)
(Short Answer Type Questions) 2X5=10
2. What is the caution that is reflected in the poem "Tree'?
OR
How do the trees sing?
3. What made the scorpion hide beneath a sack of rice?
OR

How did the peasants search for the scorpion?
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)

How old was Hamid and where was he going ?

OR
What did Amina tell Hamid about his parents?
Why did Lencho write a letter to God?

OR
What did the postmaster do after reading Lencho's letter addressed
to God?
Who is the author of 'My Bank Account'?

31erar /OR

What were the charges Aksionov was accused for ?

(Section-C)
(Long Answer Type Questions) 3X5=15
Write an essay in about 200 words on any one of the following
topics :
) Importance of English
(i1) Women empowerment
(iii) Environmental Pollution
Write a letter to your friend inviting her/him to your birthday party.
OR
Write an application to the manager, ICICI Bank, Jabalpur, for the
post of a clerk.
Translate the following into English :
(i) B W B 9T & |
(i) T RN IR R |
(i)  WRI TP HEH S & |

OR
Translate the following into Hindi :
1) Necessity is the mother of invention.
(i1) We should protect our environment

(i) Don't use plastic
List the factors that should be kept in mind while draftinga CV.
OR

Draft a resume for the post of a teacher in a private school.

0C-302-S

I1.

€)
Attempt any three of the following as directed :
1) Shubham studies in University.
(Insert'an/a")
(i1) The boy jumped the well.
(Insert suitable Preposition)

(i) One should do duty.

(Insert correct pronoun "his or one's")
(@v) Please give me food to eat.

(Insert 'some' or 'any")
v) There is water in the Bucket.

(Insert'a few' or ' a little")
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Describe the problems of forest resources and give methods for
their conservation.
Sl fAfdar @1 € ? $A® BRI Hecd Ud ARETU Bl BRI DI
S |
What is Biodiversity? Discuss its causes, importance and
conservation strategy.

3121a1 / OR
Blc—WIcH T & ? A9 URTdT H $9D! JHBT DI W DI |
What is Hot-Spots ? Explain the its role in climatic change.
gTaReT GReT H I Ui @ e fafked |
Write the role of information technology in environmental
protection.

3721d1 / OR
JMUST Y&uF A 3T T FHST € ? §9d UYBRI Bl ST |

What do you understand by disaster management? Give their types.

0C-303-S

Roll No. ...uueeeeneecnneecnnnens
0C-303-S
B.Com. II- Year , Supplementary Exam - 2020-21
Subject - Foundation Course
Paper - 111
(Environmental Studies)
Time : M.M. 25
e : FH e & DI |
Note : Attempt all questions.
¥us ‘3’ (Section-A)
g&JfTS e (Objective Type Questions)
1. NEISHNCIRCEE RN Vax5=2"5
Choose the correct Answer -

@) Sl BT fORIfAe =T & —

(a) e (b)  Ser

(c)  Sco—¥m aMi (d TH 9 BE B
Energy pyramid is -

(@) Upright (b) Inverted

(©) Upright - Inverted both (d) None of these
() g ST feaw ® —

@ 1o b 11 g
(© 16 IR & 5
The world population day is -
(@) 11 June (b) 11 July
(c) 16 October (d) 5 June
(i) g g BT PH B B —
(@ 07 9 HH (b) 07 9 T
(c) 07 d =
P"of pure water is -
(@) Less then 07 (b) Greater then 7
(c) 07 (d) Zero
(iv) S fafafar & forr et g1 waRT & —
@  wE (b) e
0C-303-S
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)
(c) gttt 1 fdqqwdiepvor (d)  3mard &1 &
The greatest threat to biodiversity is-
(@) Pollution (b) Deforestations
(c) Extinction of species  (d) Habitate loss
StfereRaHTe AT A arg Ugud ¥ —

(a)  IRERT —90 (b) PR —40
(c) WRPRA — 32 (d)  @feaad —40
The most dangerous radioctive air pollutant is-

(a) Sr-90 (b) Cu-40

(©) P-32 (d) Ca-40

¥vs ‘¥ (Section-B)
oY STQT UeF (Short Answer Type Questions) 17:x5=7%;

Tl yIRRAI® 5 H ol & YdTe DI AASSY |
Explain the energy flow in a terrestrial ecosystem.

3121a1 / OR
el $iET Ud S91d USRI R wfera fewoft forRed |
Write short note on food chain and their types.
SR fawpie iR IF@ UHTAl B T DIFSH |
Explain the population explosion and their effects.

3121a1 / OR
STFRIE, TATaRUT Ud A1 R & A1 d¥ A& 1ed & |
How to relate human population with environment and human
health.
I A T § ? D] AAIRN Bl WL DI |
What is forest resources? Explain its problems.

3121a1 / OR
STl Al & DR Td 39 d=efo] W fewoft forfRe |
Write note on classification of water resources and its conservation.
IRA # fohae Safafqear arer 9 9 oa ® | o9 fafderdar &
A DI IAATSY |
How many types of Biodiversity zones are found in India? Explain

0C-303-S
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the significance of Biodiversity.
3721d1 / OR
Safafdudr & Jeu W wfera femeft foalad |
Write short note on value of Biodiversity.
g1 groft <Reror B o fewft faRed |
Write note on wild life conservation laws.
3721d1 / OR
J— T W feuol ey |

Write note on land slides.

gus 49 (Section-C)
dref S<¥g e (Long Answer Type Questions) 3X5=15
I YATERTT FARIS I T2 § SRR @ fiaT 3 e
B |
Explain the role of public participation in local environmental
problems protection.

3121d1 / OR
uiRRerdar fiRife & Rl & W I |
Explain the types of ecological pyramids.
IRAR BT HRIGHA DI AN | S gig FHa01 4 39S
HE Bl TRy |
Explain the family planning programme. Write its importance in
population growth control.
3121dT / OR
e yguor R e forRed v s gvmal &l <Ifor |
Write an essay on sound pollution its effects.
IRA ¥ gl §3 SHoll &I ART TR AR Ak &1 F7 YfAdT § e
B |
Explain the role of individual in growing demand of energy in India.
3121d1 / OR
I G B FHEIRI T RV & YR BT qU DI |
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e R g @ IR &R 18 Ufrerd a1f¥e 7 | goiaRor & STferer™
fafey g1 @ty ity | R wrfa &1 IR arerr B8Rt afe gaa!
T GIThROT & AT ATl & §RT Bl Il 87

A firms profits during 2010, 2011, 2012 and 2013 were Rs. 16,000,
Rs. 20,000, Rs. 24,000 and Rs. 32,000, respactively. The firm has
capital investment of Rs. 1,00,000. A fair rate of return on investment
is 18% p.a. Calculate goodwill by capitalisation of super profits
method. Will the amount of goodwill be different if it is computed by
capitalisation of average profits? Confirm your answer numerical
varification.

31erar /OR

fFe=ifhd @1 |HSISY -
(@) ol o ok |rr Reafa faaRor
(b) X&) Rl vE T Y o
Explain the following :
(@) Capital Account & General balance sheet
(b) Revenue Account & Net Revenue Account
fr foresl &1 wHfdhd ST
Consolideted the following balance sheet :

fadaxor (Particulars) g o g far.

(HLtd.) (SLtd.)

GEGCIIRCC I B

(Equity & Liabilities) :-

SNEINECALS

(Share holders funds) :-

391 Yoil (Share capital)

gfer e 10 %, gofad 15,000 10,000

(Rs. 10 equity share fully paid up)

T UG IR —

(Reserve and surplus) :-

AH—ET fIavor (a1m™) 3,000 3,000

(Statement P&L A/C surplus)

1e] &1 (Current liability)

STRe <garg (Trade payables) 5,000 2,000
23,000 15,000

0C-304-S
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Time :

0C-304-S
B.Com II Year , Supplimentary Exam. - 2020-21
Subject - Accounting Group
Paper -1
(Corporate Accounting)
M.M. 40

e T g 8l BIfTY |
Note : Attempt all questions.

(iv)
v)

¥us '3'(Section-A)
9IS g9 (Objective Type Questions)
garsy HfIRId doM I ® A1 3 1x5=5
State the following statements are "True' or 'False':
gderahr aTRSIAE HHeT BT YoiiTd & 2 |
Managerial remuneration is capital expenditure of a company.
I U 359 FHRT 2 |
Goodwill is an intangible assest.
i3 RresT a9 A9Y SIHH -1 IIERI BT TSI MATAD T |
While preparing the consolidated balance sheet, it is necessary to
eliminate inter-company transactions.
T ofelt @1 faeiras golt & &1 U Wi (@) 2|
Concellation of unissued capital is a part of capital reduction.
T e SISFRM @ 9RT 17 & S IR 99 & o™ &1 &F | HF
25 gfrera denfe |eg H gwiandg far S 7 |
Under Banking companies Act, section - 17, minimum 25% of current
year profit is transfered into statutary reserve.
¥us 'g' (Section-B)

oY SN U (Short Answer Type Questions) 2x5= 10
ST D AT @Il AT T FAESK 22 HFAT @ IS BT geH
UTeY (AR BIFTY |
What do you understand by Final Accounts of companies? Prepare
abridged form of balance sheet of a company.

31erar /OR

FAMAT & Yd UG YgaTq &1 o A1 81 FMdre &1 Afyy &1 9of=
I |
Describe the method of finding out profit or loss prior and after
incorporation.
A A T AR 27 A1 Jedih &I e 9agy |
What do you mean by goodwill? State the methods of valuation.

0C-304-S




2)

3frar/OR
ATSIdh SYATRIT aTel SUHAT B of@l B fa=marg foffe |
Write the features of the accounts of public utility undertakings.
T GAIRT HFIAT BT ST IR T =TT AT 370+ aTRAl &
2 @1 IO B DI ST 57
How are the goodwill and minority interest calculated while preparing
the balance sheet of a holding company.

3rerar /OR
FRAR® & W BT fIaR0T A AT 9T FHSI 57§91 AT 7Y |
What do you mean by liquidator's statement of account? Give its
specimen.
e & W@Ma 9 %I S WU & THIPRUT I NI RIT TS 67
What do you mean by amalgamation in the nature of merger and
nature of purchase?

31erar ,OR
e <emait # sridRe gafafor afe-ia & Sirar 272
Under what condition internal reconstruction becomes desirable?
d& ¥ el & =1 IeR 9arsy |
Discuss various types of deposits in a bank.
31erdar ,OR
PreferRad o g MR &) IR ) o AR -

From the following calculate the amount of not premium :

Rs.
Iy ¥ gy WA 2,50,000
(Premium received during the year)
Iy & 3 H 3 WA 30,000
(Premium outstanding at the end of the year)
T 9Y & 3T H et Wi 20,000
(Premium outstanding at the end of previous year)
Wepd gAdEr WifaH 15,000
(Premium on reinsurance accepted)
YT gearr WA 10,000

(Premium on reinsurance ceded)

0C-304-S

3
gus 49 (Section-C)
€Y SR w99 (Long Answer Type Questions) 5x5= 25
TS AT o™ T 8?7 SATIeT I & |RY H SRl ST
& faf=1 graemi @1 TsTaR forfay |
What are the divisible profits? Explain the various provisions of
company Act regarding distribution of dividend.
3frqr/OR
A TS T TR 1 3T 2013 DI X HH1 [IACS & TR Bl
1 3T 2013 H Y B D (oY arT | 711 oG I & -

fohvTam Td ®x %. 12,000, §HT 3. 3,000, faSTell T %. 2,400,
I 2. 36,000, HATAD! Bl BIF B. 4,600, HHIL 2. 6,000, [T .
4,000, BT %. 3,500, BRATAT I B. 7,500, TSI ATST %. 3,000, 9
Y %, 1,500, YRS T 3. 6,500, QI 2RI . 2,000, R0 TR TS
%. 3,000.

31 ®WE 2014 B FHIW B el 99 b U gl w1 .
5,00,000 ST | %, 1,50,000 DI Gl 1 31Ut 2013 ¥ 1 KT 2013
DI G DI ofl | IY WR & Fbel ¥ 3. 1,55,000 o | FHRAT b Jd
TG U At & oIy or Hafery |
A Ltd was incorporated on 1st August 2013 to purchase the running
business of X Co. Ltd from 1st April 2013. The following informations
are available :-

electricity charges Rs. 2,400, Salaries Rs. 36,000, Director's
Fess Rs. 4,600, Commission Rs. 6,000, Advertisement Rs. 4,000,
Discount Rs. 3,500, Office exp. Rs. 7,500, Carriage Rs. 3,000, Bank
Charges Rs. 1,500, Preliminary Exp. Rs. 6,500, Bad debts Rs. 2,000,
Interest on loan Rs. 3,000.

Total sales for the year ending 31st March 2014 were Rs.
5,00,000 out of which sales of Rs. 1,50,000 were for the period
form Ist April 2013 to 1st August 2013. Gross profit were of Rs.
1,55,000. Find out profit prior to incorporation and post to
incorporation of A Ltd.

T BH Pl &9 2010, 2011, 2012 37X 2013 H HH: 16,000 ., 20,000
%., 24,000 3. 3R 32,000 3. AT | BH BI fAFFINTT YSil 1,00,000 @. & |
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FHREr (Assets) :-

fafaer \wfrt 11,000 15,000
(Sundry assets)
v o1, § 900 9 TFTT WX 12,000 -
(900 shares in S Ltd. at cost)

23,000 15,000

31erar  OR

AT & AU ¥ Y AT FHI &7 Hr1 FHI Bl [ 918y |
What do you understand by winding-up of company? State the

methods of winding-up of company.

RGN HH-T fhd Ped 27 SEIRd HH- P

QD! # DIA—H Al goll ufaficar &1 ot 82

What is transferor company and transferee company? What journal
entries are made in the book of transferor company?

31erar ,OR

31 farfies &1 forear fead 2 -
The Balance sheet of A Ltd. is as under :

fdaxor (Particulars)
AT U4 <1<
(Equity & Liabilities) :-
3TETRAT BT BIY
(Share holders funds) :-
391 Yoit (Share capital)
20,000, 10 Ufrerd YaifdaR 3fer U_ud
(20,000, 10% Pref. share of Rs. 10 each)
2,000, FHAT 32 AP 100 . Bl
(2,000, equity share of Rs. 100 each)
o U4 3 (Reserve and surplus)
A—ET fdaror — Sfde 2
(Statement of P&L - Dr. Balance)
1] &1 (Current Liabilities)
TITRe% <aa (Trade payable)

0C-304-S

R (Amount)

2,00,000

2,00,000
(90,000)

30,000
3,40,000



I

(1)
(i)

(iif)

(iv)

(@)

(i)

(iif)

(iv)

I1.

(6)

FHRmEr (Assets) :-

IR ARl (Fixed assets)

599 GARRIT (Tangible assets)

3= il Rt (Fixed assets) 1,80,000

@R (Goodwill) 50,000

=1e] Rl (Current assets)

Se (Inventories) 50,000

RS 9T (Trade receivables) 60,000
3,40,000

fFrforRea uwam wRa fby MY IR AT & forg feegsat 1 argHfa
T B ®
100 %. dTcl |H 372 BT TTTHR 50 . dTel Yoiadd |H 3727 947 &A1
S |
10 . @Tel 10 URIId YalbR 3fel BT TeTHR 6 %. dTel Yol 10
yfererd yatfirer afer a1 f&ar o |
T BT FAT AM—IH W & ST AY BT guia: ufaalRad o=
S |
A IR BT STANT WIRT G DI UfaRad &= 7 fvar o |
ST & R DIFTY AT ¥ BT uRRafid facsr W 9918y |
OOl T @rar 1 AR B |
The following resolutions were passed and the scheme was duly
approved by the tribunal :
Equity shares of Rs. 100 each be reduced to fully paid-up shares of
Rs. 50 each.
10% Pref. share of Rs. 10 each be reduced to 10% Pref. shares of
Rs. 6 each fully paid-up.
Goodwill and debit balance of P&L A/C be fully written off.
The balance of amount be used to write of other fixed assets.
Give journal entries and revised balance sheet of the company.
Also prepare capital reduction account.
d gecuTer # gRol UGy Bl well—wifd JHssy | 39 S &
U3y RIT 57
Explain the slip system of book-keeping. What are its advantages
and disadvantages?

0C-304-S

(7
3ferar , OR

FeifehT EmT & SR W BT $1 81 & q1d @ IR Fabifory:

1 IR 2015 BT 3T &M | 1 3T 2015 DI GRS BT
50,000 %. T | 2015—16 H A T B TG dF I 1,00,000 T. &
o | 59 A & 0T =3 30,000 B. o | Aol = 37U+ ol UANT |
3,000 %. DT AT AT | 1 RIFHR 2015 Teb D1 fdshl 2,00,000 2. o |
7,000 5. BT A ST F 91 fordT AT | T a9 BT Hbel oA Bl
yfcrerd {1 arTa W 25 wfderd 2 |
Find out the amount of claim of loss from stock from the following
information :

Fire broke out on 1 September 2015. Opening stock on 1*
April 2015 was of Rs. 50,000. Purchases during 2015&16 upto
date of fire were Rs. 1,00,000. Manufacturing expenses of this period
were Rs. 30,000. Proprietor used goods worth Rs. 3,000 fro his
personal purpose. Sales upto 1% Sept. 2015 amounted to 2,00,000.
Solvaged stock is valued of Rs. 7,000; Rate of gross profit on cost
of sales last year is 25%.
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IuRGY T 97 312 2° IURSIT & AT o1 fafe=y Afoi &
oI BT |
What is meant by overhead? Describe the various methods of
apportionment of overheads.

3121dT / OR
ue Al sgavara & <1 SumHl & wta Fifed e & T
The following information have been given in relation to two jobs of a
manufacturing business :

3uhd (Job) I Rs.

3ushd (Job) II Rs.

Y AU 30,000 40,000
(Material consumed)

PRI N 20,000 30,000
(Direct wages)

ger g 4,000 6,000
(Direct expenses)

HREMT SURII YT AN BT 40 R IR FHraterd
IURSI BRI ART BT 10 U 81 A1 YD IUHHA DI Bel AT
ST BITY |
If the works overhead is 40% of direct wages and office overhead is
10% of works cost, find out the total cost of each Job.

' Qb | [T BT ST 7T | SBT 1 STe, 2018 DT URH BTl
AT 30 S, 2018 DI FHI GAT | SHT e 1,75,000 B. BT AT | IHA
=1 e 5

'A" undertook a building construction contract. The contract was
commenced on 1st January, 2018 and completed on 30th June, 2018.
The contract price was Rs. 1,75,000. He incurred the following

expenses : Rs.

ggad Al (Materials consumed) 8,750
] AN (Materials in hand) 1,750
HqoTgxl (Wages) 8,750
el g (Direct expenses) 35,000
wve Y fhar (Plant purchased) 17,500

0C-305-S
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B.Com. II Year, Supplimentary Exam - 2020-21

Subject - Accounting Group
Paper - 11
(Cost Accounting)
M.M. 40

e : T U= B DI |
Note : Attempt all questions.

(@)

(i)

(iif)

Yus ‘I’ (Section-A)

IS ugd (Objective Type Questions)
|E IR G 1x5=5
Choose the correct answer :
AT SRgTeh=T MR BT ® -
(a)  THE ol yurell R (b)
(c)  IMR&HT ol yorell W (d)
Cost Accounting is based on :
(@) Onsingleentry system  (b) On Double entry syetem

(©) On American entry system (d) None of these
Ao AN U4 REHT SURST & AN Pl HEd @

TIENT oIl YUTTell U
T I BIS T

(@)  HREME ARTd (b) SR AN

(c) fIh arma (d TH A B B
Total of prime cost and factory overhead is called :

(@) Factory cost (b) Cost of production
(c) Cost of sales (d) None of these

SHT ANTa Ay § ST @i GuR A ST g

(a)  SHEE R

(b) TIEREW

(c) TP Ud SHER (Gl gRI)

(d) 9 PR TR

In cotract costing, contract account is prepared :
(@) By contractee

(b) By contractor

(c) Both by contractee and contractor

(d) None of these

0C-305-S
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(iv) 9 aR<Ide B AT 1 A HH Bl & df QFl & 41 & 3R

™)

BT AT ST ©
(a)  SNITIRU & (b) SRR §Fd
(c) &R Fod (d ¥R H T

When actual process loss is less than the estimated loss, the difference
between the two is considered to be :

(a) Abnormal wastage (b) Abnormal effectiveness

(c) Normal effectiveness  (d) Loss in weight

| faeeg a5 9 @1fde faep! qoifiedl 2 -

(@) (b) =

(€ = d) 3T P T
Sales above B.E.p.indicates :

(a) Profit (b) Loss

(c) Both (d) None of these

¥vs ‘¥ (Section-B)
Y ST U (Short Answer Type Questions) 2 x 5 =10

NI SEid &1 57
What is cost accounting?

31erar / OR
fARER 3IRTO YoTrelt T 27
What is prepetual investory system?
SN S FIT 57

What is cost sheet?

3erat / OR
31 HTd, 2019 BT FHIG B dTel a9 & oIy AT Toe H#uT fof. ol
faferRad @ <a € -
The Account of Amit & Co. Ltd. for the year ending 31st March,
2019 show the following : Rs.
|l (Materials) 60,000
%19 (Labour) 80,000
M A FHI (Abnormal waste time) 5,000
g el g (Other direct expenses) 4,000

SR IUREY (Selling & distribution expenses) 15,000
0C-305-S

€)

PRI IuRerd (Office overhead) 10,000
far vd faaRT = 5,000
(Selling & distribution expenses)
Al AT, BRETET ANT, TG AN TAT Bl AT (@ g9 U
IEESSICEIERIF
Prepare a statement showing prime cost, factory cost, cost of
production and total cost.
BT GIAT BT Y BIedf~Td TAT S |
Give the imaginary specimen of a contract account.

31erar / OR
fohe SERT # ATa olaidd @1 uRaTer™ JRTd fafer oy gl 27
In what industries to which operating costing method of cost
accounting is applicable?
gfehar dRTT FT 2?
What is process costing?

31erar / OR
A T SRATATY &1 ¥ 3T a1 A3 &7
What do you understand by normal and abnormal wastage?
feRor & SrueT @I MR 2
What do you mean by variance?

31erar / OR
i el | Fa—fdwse favg emd P

Calculate Break-even point from the following information :

fasar (Sales) Rs. 80,000
gRacTeitel T (Variable cost) Rs. 64,000
il o (Fixed cost) Rs. 24,000

¥us ¥ (Section-C)
€ SR w99 (Long Answer Type Questions) 5 x 5 =25

it amRl & Jeaied &1 fafv= fafert s+smsy |
Explain the various methos of valuation of material issued.

3erar / OR
uTRstfHe o= &1 fafa=t et & e sy |
Discuss the various methods of wage payment.

0C-305-S
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®)
TATUE TR 10 Uferd Uiay &1 §% | g1 oIS | U
A BT 20 URTEd B | 37 &I D! H MaTID @I 91154 |
Provide depreciation @ 10% p.a. on plant. Indirect expenses

amount to 20% on wages. Prepaer necessary accounts in the books
of 'A'.

3121a1 / OR
T YU SHT UR AT DI ITUET DI T Yghadt 87 o Sy |
What are the different methods of calculating profit on an incomplete
contract? Describe.
Qe AT ST &1 Icared a1 ufshareli M derm N 9 8IaR I[oiRdl ©
AT (AR ¥l DI ST & | I8 =1 & b U Ufehdr § et 9K
T 5 URTEIT € 8 ST & 9T 10 TR S/afRne & 81 9l 8 Sl
AT 100 3. YIS TAT 150 2. Ui < {9 Sl & | Ufehar & e
Td @Y 3rfehd & -
The product of manufacturing company passes though two process
M and N and then to finished stock. It is ascertained that in each
process 5% of the total weight put in lost and 10% is scraped which
realises Rs. 100 per ton and Rs. 150 per ton respectively. The
information regarding processes are as follows :

gfshar (Process)

M N
g AT (el ) 1000 200
Materials consumed (in tons)
NI Ui e SuAl A 120 150
(Cost per ton in Rupees)
HqoTgxl (Wages) Rs. 20,000  Rs. 15,000
T o Rs. 5,000 Rs. 4,000
(Manufacturing expenses)
SWRIFd FAARA F UfHAT W TR BIFTT |
Prepare process accounts from the above informations.

312ra1 / OR

AT AR fIaRoT & 7 FHSIA 87 NG odl g§RT e T ot
oI fax oRgl gRT 9A T o9 § 3faR & HIRUT g1y |

0C-305-S

11.

(6)
What do you understand by cost reconciliation statement? Discuss
the causes of difference between costing profits and financial profits.
frferRaa gamRl | ToMT BT
Calculate from the following :
) AT AT 31guTd (P/V Ration)
(i)  wA-fI= (B.E.P)
(i)  gRerm A (Margin of safety)

2018 (Rs.) 2019 (Rs.)

fassar (Sales) 5,00,000 7,50,000
Y @1 (Fixed costs) 1,00,000 1,25,000
qRad=Teliel T 2,75,000 4,50,000
(Variable costs)

3121d1 / OR
T G B AN B ATdbs Fifhd & -
Cost data of a particular product are as follows :

AT A= (Standard quantity) 40Kg

A I (Standard price) Rs. 3 perkg
qr&ifde AET (Actual quantity) 50Kg
gr&ifde g (Actual price) Rs. 2.5 perkg

JrEREA faeRoT ®1 0T BT |

Calculate material variances.

0C-305-S
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4)

T amgf

(Class) (Frequency)

50-60 5

60-70 8

70-80 32

80-90 12

90-100 3

37erar / OR

BTl S0 A MY R FHEIT &7 SAD HIFI—DbIF | FISH Bl 27 Plel
SITORI & fIeelyor &7 wew qarsy |

What do you mean by Time series? What are its main components?
State the importance of analysis of time series.
= afipel A Blel [T B Fedwe Yol T DI

Find Karl Pearson's Correlation Coefficient from the following data:

I (3. #) AT (SA1 #)
Price (in Rs.) Demand (in tons)
22 60
24 58
26 58
28 50
30 48
32 48
34 48
36 42
38 36
40 32
3erar / OR

YT THA D1 ARV Bl FRAT BT | Felld T8 A Bl A=
Afert @ fae=r W HfR |

Explain the concept of regression. Also discuss the various methods
of measuring regression.

fFreifhd THal A fheR & Tael Fadie B MMM BINY

From the following data calculate Fisher's Ideal Index number :

0C-306-S &

Roll No. .....ceeaieee
0C-306-S
B.Com. II Year, Supplimentary Exam-2020-21
Subject - Management Group
Paper - 1
(Principles of Statistics)

Time : M.M. 40

e - FH e & DI |

Note : Attempt all questions.

¥rs ‘I’ (Section-A)
IS g (Objective Type Questions)

1. |El IR G 1x5=5

Choose the correct answer :
() sl @1 gt o Fikera! © -
(@  us fa=m (b) TP Bl
(¢ fEMw@dmeE (d) 7R T Fen
Statistics in term of natureis :
(@) A Science (b) An Art
(©) Science & Artboth  (d) Neither science nor art
(i) =1 &9 o a1 TRy T T R
@ e (b) TR e
(c) AR #ed (dy  =feg®Er
Which of the following is not a mathematical mean :
(a) Mode (b) Geometric mean
(©) Arithmetic (d) Median
(iii) HEd Hled & I7d H gRaa fFrefaRad & & fod 3 Fwifda 2
(a  SUAfT (b)y A STEEd
(c) T =R (d) It e
Which of the the following is related to the change in time of harvesting:
(a) Trend (b) Seasonal fluctuation
(©) Cyclical variation (d) Irregular fluctuation
(iv) YT @7 efead aref R
(a) ST 9@ (b) WY dren
() W T (d) = o
0C-306-S
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The meaning of regression s :
(a) Forward movement  (b) Return back

(c) Go upward (d) Jump downward
gD D U fhddD MR TR HI SR 2

(a oM = (b)  FHN IR gh

()  IRFRT a5 (d)  smgRr agy

On what basis the value of mode is calculated :

(a) Histogram (b) Ogive curve

(©) Frequency curve (d) Frequency polygone

¥vs ‘¥ (Section-B)
oY SR U (Short Answer Type Questions) 2 x5 =10
QiR BT 3fef qarsy |
Define the meaning of statistics.
31erar / OR
39 e & oY o1 §HeTd 57
What do you understand by Random sampling?
T AT AR B 7 faRryar) 8?
What are characteristics of an ideal average?
31erar / OR
o= sl @ fory sgaid sa IR
Calculate mode for the following data :
25, 15, 23, 40, 27, 25, 23, 25, 20
yaTg faees @1 TR faRyard @r €7
What are mathematical properties of standard deviation?
31erar / OR
fIYHaT | 3T a1 |He 8° fAwaT B Al BT AHSSY |
What do you mean by Skewness? Explain measures of Skewness.
FEawY U IR fewofl faRkay |
Write short note on Correlation Coefficient.
31erar / OR
U T &l fIRrareli &1 awam Sifo |

Explain the properties of regression coefficient.

0C-306-S

©)
aPiH B aRATIT AT 3R SES ST TR YT SIferg |

Define Index number and mention its uses.
37271dT / OR
fersorg & omg I wHed 27
What do you understand by Pictograms?
¥ug 9 (Section-C)

" S 99 (Long Answer Type Questions) 5 x 5 =25
[iRerad! @ g SR iR I8 &3 T Wil &1 fadamr I |
Define 'Statistics' and discuss its scope and limitations.

37271dT / OR
“HIRD THP ARHD T2 8, fobg A T qeg qHd e
21" 39 BT B WL BIFTY 3R I8 gy b DI I GAcHS q2
FiRegaRT T F |
"Statistics are numerical statement of facts, but all facts numerically
started are not statistics." Clarify this statement and point out briefly
which numerical statements of facts are statistics.

T T A HeFHT DI AT DI
From the following data calculate the value of median :
(Marks) (No. of Students)
1-5 3
6-10 6
11-15 14
16-20 12
21-25 5
31211 / OR
FHMIAR A OIR AT IR &RIHS AR &I RATNRI forRay e
IS I Td QN & IR TR JelT DIy |

Write the definitions of Arithmetic mean, Geometric mean and
Harmonic mean and compare on the basis of their merits and demerits.

=1 wHal | 9AY faure™ S SIfo ¢

Find standard deviation from the following data :

0C-306-S
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TR 98 2005 4qTe] 99 2006
] Base Year 2005 | Current Year 2006
Commodity e qEAT (| Il
Price |Quantityl Price Quantity
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36
J1erd1 / OR
RIS TRl 9 SMU®T &1 MR §7 $9d ot d RN &l &
BT |

What do you mean by Diagramatic Representation? Explain its
advantages and limitations

0C-306-S % 0C-306-S
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0C-307-S
B.Com. II Year, Supplimentary Exam, 2020-21
Subject - Management Group
Paper - 11
(Principles of Management)
Time : M.M. 40
e - FH e & DI |
Note : Attempt all questions.
¥us '3'(Section-A)
IS g9 (Objective Type Questions)
1. | A e’ fIfa 1x5=5
Write "True' or 'False' :
(i) 99T Benl B, fagm =2 |
Management is an art, not science.
(i) e e ARie HeRd © |
Planning is a mental exercise.
(iii) fPITHS T & TSI YW F |
The founder of functional organisation is Appley.
(iv) Uad UG 918 & SIMURvT Rigia &1 uferares #elr =1 fvam 2 |
X and Y theory has been propounded by Meslow.
(v) e e MRaR ufshar g |
Direction is a continuous process.
s '§° (Section-B)
oy IT0T U (Short Answer Type Questions) 2 x5 =10
2. UG Pl GROT DI T DI |
Define concept of management.
3721d1 / OR
Jel §RT Uy &7 &7
What is management by objectives?
3. RIS 1 AdeaTadhdr B WE B |
Explain the pervasiveness of planning.
3725d1 / OR

0C-307-S 0C-307-S
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R SR @ 87
What is the decision making concept?

fAB=<TPRT B T IaTsU |

State the advantages of decentralisation. 10.

3721d1 / OR
AT S RN 57
What is line organization?

3ffaxira YRoTaT BT FHSISY |

Explain non-financial incentives. I1.

3725d1 / OR
AT BT JTIRTT Bl WL HITOTT |
Explain leadership concept.
e &) UGfa &1 \HsRy |
Explain the nature of direction.

3725d1 / OR
=T @1 ygE A SHeey |
Explain the main limitations of control.

¥ug 9 (Section-C)
<rd S 999 (Long Answer Type Questions) 5 x 5 =25

YRS Uae & &3 H eI Bald & ANGH Bl IRAT DI |
Discuss the contribution of Henry Poyol in the field of administrative
management.

3725d1 / OR
3udTe gIRT Y&e 97 87 $9a RIgldl @I fadamr S |
What is management by Exception? Discuss its principles.
T ufthar &1 9o HIRT |
Describe the process of planning.

3721d1 / OR
"ol yeY BT AR 1 AHIeT DI |
"Decision-making is the essence of management." Comment.
HTeA &I gRATT AT | 16 Bl Ui BT W BT |

Define organisation. Explain the nature of organisation.

0C-307-S

)

31erar / OR
T Ufshar &1 goid iy |
Describe the staffing process.
AT T AR RIgla bl T3y |
Explain Maslow's theory of Motivation.
31erar / OR
"1 S O €, §9I¢ 81 O | 39 B Pl HSSY |
"Leaders are born, not made." Explain this statement.
e 1 27 fced @ fafv=r Rygial &1 amran $If |
What is meant by direction? Discuss the various principles of direction.
31erar / OR
FRIFT SR T 57 RIS &1 Ul 1 fad==r HIfg |

What is control concept? Explain the nature of control.

0C-307-S
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I1.

4)

HF Bl fART Feil T Herg # faRag |
Write in short various meeting of company.

31qd1 / OR
HATeTh! @ STEBRI Ud beedl Bl quiv BT |
Describe rights and duties of directors.
JATIYC! ATeRYN Td RYEY DI ST H Dol WRBR Bl ATl BT o
P |
Discuss the powers of contral Govt. in the condition of oppression
and mismanagement.

3erar / OR
RTI §RT FHI &1 &= 3 FRAORe & S1¥dR Ud daied] &bl aui
P |
Discuss the rights and duties of liquidator in case os winding-up of a
company.

0C-308-S

Roll N

[ o T
0C-308-S
B.Com. II Year, Supplimentary Exam, 2020-21
Subject - Economics Group

Paper - 1
(Indian Company Act)
Time : M.M. 40
e - 9l U9 g ST |
Note : Attempt all questions.
Yus ‘I’ (Section-A)
IS UeH (Objective Type Questions)
1. HEl SR G 1x5=5
Choose the correct answer :
(i) e HFE @ oy ure [T I IR SR R
The minimum number of members in public company is :
(@) 2 (b) 5
(c) 7 (d) 10
(i) II® B o fog ame AT R IR &R &
(@) UfRB®H (b) D
(c)  aifvard d = A BE T
Preparing the memorandum of associations :
(@) Optional (b) Necessary
(©) Compulsory (d) None of these
(iii) Feoros feifaa fdr o |aa € -
(@ I W (b) WfEE w
(c) TSI (d sTHIWTR
Debentures can be issued :
(@) On face value (b) On premium
(©) On discount (d) On all of these
(iv) @ A T HFA U SiaT HT § dael Y IR el ©
(a)  STARIROT T (b)y  E |
(c) TR T (d)  FoH=EERAl & |9

0C-308-S
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Which of the meeting the company calls only once in its life time :
(a) Non general meeting  (b) Statutory meeting

(©) General meeting (d) Meeting of debenture holder
HHT & A DY Y 7
(a) AfBROT IR

(b)y < gRT VFed AU
(c)  oeRi gNI VRed HHUA
(d)  SWRad A
Methods of winding up of a company is :
(@) By tribunal
(b) Voluntry winding up by members
(©) Voluntry winding up by creditors
(d) All of the above
gvs ‘¥ (Section-B)
oY ST Y (Short Answer Type Questions) 2 x 5 =10

AR HHT & MY AT FHS &7
What do you understand by Holding company?

37271dT / OR
Sl SHl Ud ArdSIe ST H AR T HIf |
Distinguish between private company and public company.
urie Al & MY FT TS B2
What do you mean by Articles of Association?

3721dT / OR
UfAaRoT 9T 57 9T SHBI [FHA ffarR] 87
What is prospectus? Is the issue of propectus necessary?
I 3fET R 2?
What is Bonus Share?

3721d1 / OR
3fell & FRIGRYT UG BRI ¥ 3R aarsy |
Distinguish between transfer and transmission of shares.

BT DI FAT BT BRIATED AT - RAT MM 87

What is meant by quorum of No. of company meeting.

0C-308-S
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a1erar / OR
[T B Ged A R AU 2? g8 e YBR A foram Siram &7
What is meant by minutes of a meeting? What are the different ways

of writing minute?
IEIT D WA BT R\ T 57 FeU H ARAT BIFIY |
What is majority power rule? Describe in brief.
a1erar / OR
o gRReIf=ll § v wwoei & Sfes FaIe fHar S a6dr &7
Under what circumstances a company can be vaoluntarily windin up?
gus A (Section-C)
€ SR w99 (Long Answer Type Questions) 5 x 5 =25
AT D1 gRATT faRag | v w1 v faeivamil o1 goiH
P |
Define company. Write main characteristics of a company.
3721d1 / OR
Yaciehl 3 GRIT TR B7 HHI1 Faciahl & JAMBR U ST FHeisy |
What do you mean by promoters? Explain the rights and liabilities of

company promotor.

uTE T R 3 ST T e 57 uTve T R @1 vy ARl
BT g HIT |
What do you understand by the mamorandum of association. Write
the subject matters of memorandum of Association.

31erar / OR
T B & UfaRer 3 FRT—aar faaror a3 S 87 faaR & |\Hssy |
What particulars are given in a company prospectus? Explain detial.
FOTUS T 2° ROF & AT UBRI BT qui BHIfTY |
What is debenture? Discuss the different kinds of debentures.

a1erar / OR
31Nl BT gRMIT BT | T U JaifieR i # 3ok T SIS |

Define Share? Distinguish between equity and preference shares.

0C-308-S
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11.

4)
‘ST 1 A7 A 2 SR e Y |7 59 B BT Esisv |

"Life insurance is insurance as well as an investment." Explain this
statement.
arerar / OR
SitaT 197 R @1 ufhar &1 e o ST |
Describe briefly the procedure of effecting life insurance.
AR § Sa= 9T BT ITETIBRT BT B HRUT FHSEY |
Explain the reasons for the nationalisation of life insurance business in
India.

arerar / OR
TNeY T Bl Hewd HHSU |
Explain the importance of Health insurance.

0C-309-S
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B.Com. Year, Supplimentary Exam, 2020-21

Subject - Economics Group

Paper - 11
(Banking & Insurance)
Time : M.M. 40
I : Il U™ 8 DI |
Note : Attempt all questions.
¥us '3'(Section-A)
IS 9g9 (Objective Type Questions)
1. HE IR G 1x5=5
Choose the correct answer :
()  rg T BT e e fhd R R #Rar 2
(a) Do d®
(b) dal @ AT
(c) S T dTel T SUR ol dTel aufad
() S
Optimum caparity of credit creaton depends upon :
(@) Central Bank
(b) Number of Banks
() Borrowers and lenders
(d) Allthese
(i) d® o7 B €
(@) quUicT: gRI&T (b) e griEa
(© g @ e
Bank loans are :
(@) Fully secured (b) Partly secured
() Unsecured (d) Allthese
(iii) YR g A1 9 &1 9o drafay ©
(a)  facel (b) DD
(c) ElF] (d) qrIg
The central office of LIC s ::
(@) Delhi (b) Kolkata
(©) Chennai (d) Mumbai
0C-309-S
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(iv) =% & fagmar =L @ -

(V)

(@) ORI I & 3

(b)  gTaE & AR 0

(c) % o1 Sfeafaa Ay @1 & A=

(d) oD TP b AT SRER AAXD &
It is not a feature of a cheque :

(a) Unconditional order

(b) Definite amount

(©) Payable on the date of cheque

(d) Specimen signature of drawer

9 BT FIH U B © ¢

(@)  oirad (b) e 9

() |gT g (d  arfeg

Oldest type of insurance is :

(a) Life insurance (b) Accidental insurance
(©) Marine insurance (d) Fire insurance

Yus '§° (Section-B)
g I U (Short Answer Type Questions) 2 x5 =10

ARG fRIFT @I e
What is credit contral?

3721dT / OR
Jof # Srfrefa TieTor | Mg Fa7 FHe 2?
What is meant by Aptitude test in Banks?
TSI T &7
What is Endorsement?

31271dT / OR
=T WA Td §9d W H SR HITIT |
Distinguish between current account and saving account.
IMEIRZENT. & FIT I &7
What are the objectives of .LR.D.A.?

31271dT / OR
T @ FAT MATIDBAT B2
What is need of insurance?

0C-309-S
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NICERCIEIICE Ciocs) i
What is life insurance contract?
37271dT / OR
S T & T IR 77
What are the objectives of life insurance?
wReg T & AT AILIHAT B7°
What is need of health insurance?
37271dT / OR
| 1 R @ @ SRRy 22
What are the objectives of general insurance corporation?
¥us 9 (Section-C)
" S 99 (Long Answer Type Questions) 5 x 5 =25
IR Rord & & Hraf o1 aofF Sy |
Describe functions of Reserve Bank of India.
3121dT / OR
o8 df v emEr 96T gomell 1 o<l |ftd |AHsiEy |
Explain unit Banking and branch Banking systems with their merits
and demerits.
1 @ 57 Ufcnfodl & YR gargy, f59 R 3Fkor A 1 e o
HHAT T |
What are Advances? Explain types of securities in which loans and
advances are secured.
3121dT / OR
d% H "@iel S aret A= @mai &1 fdaror g |
Describe various types of Bank Accounts which can be opened in a
bank.
11 Ud oY fadr & Ry Bl FHssy |
Explain relationship between Bank & Economic Development.
3121dT / OR
T R b R @ T 27 e ) R aaey |
What are the different methods of effecting reinsurance? State the
characteristics of each.

0C-309-S
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rerar /OR 0C-310-S
TRA H eI BT UGHRT &l fadgadr Iy | B.Com. II Year, Supplementary Exam 2020-21
Discuss about internet marketing trend in India. Subject - Computer Application
1 # ¥ f=gl a1 wR fewelt foRay: Paper -1
(i) AR H AT GRET dTaraRvl (Internet and E-commerce)
(ii) geve dfepT M.M. 40
Write note on any two of the following : Note : Attempt all questions.
(1) Information securety environment in India gos '3A'(Section-A)
(ii) Internet Banking JEIfTS Ue (Objective Type Questions)
(ii)  Onlinesecurity L e g 1x5=5
Choose the correct answer :
() s BT I A UST B AT o SUTRT BRI &
(@) M Ul O EECER |
(c) SR UA (d) 7 ¥ PIg TS
The purpose of.........ccceevevveveeenene is to provide links to other pages :
(a) Home page (b) Web page
(©) Summary page (d) None of these
() 9 H 9 D A UUH AEade 99 SIS o
(@) Aold (b) AT
(c)  TIcTHY IR (d)  ITHC TEERR
Which of the following was the first commerical web browser :
() Mosaic (b) Moxzilla

(c) Net scape Navigator  (d) Internet Explorer
(i) T UIRG raTIHARI & fod 8 T ¢

The solutem for all bussiness needs is :

(@@  EDI (b)  ERP
(c) SCM (d) None of the above
vy f=zg:

(@) AT g ARl
(b) Sl gz e
()  HHRI el T

(d S = g

0C-310-S 0C-310-S
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Pinisa:

(a) Problem Identification number
(b) Personal Identification number
(c) Problem Index number

(d) Personal Index number

1 & | B gRem 77 | Gdfda T8 2

(a)  UMspmE (b) feRepmE

(©) ] (d) ST A

Which of the following is not related to security mechanism :
(@) Encryption (b) Discription

(©) e-cash (d) All the above

Tus ‘g (Section-B)
g 9N U (Short Answer Type Questions)  2x5= 10

SII—310 R e fewol forkay |
Write short note on Dial-up.

31erar ,OR
9 IMTRT $—HeT & MY Fa7 FASIA & 2
What do you understand by web based e-mail ?
g B 9gWd IR Afera fewol foRay |
Write short note on emergence of internet.

3ferar , OR
A G H S-DAA D AT W e feweh faRag |
Write short note on e-commerce challenges in present era.
B2C #fedl ¥ 39 R 9T & ?
What do you understand by B2C model ?

3ferar ,OR
RIS Hisd T 2 ?
What is community model ?
S—HIBT T | ?
What is e-marketing ?

31erar ,OR

0C-310-S
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S—fasmu < oy T wwe € ?

What do you understand by e-advertising ?

JRfATT AR ¥ FA7 qread § 7

What does mean by secure bussiness ?
31erar ,OR

fSsiice gxer W wfera fewft forfay |

Write short note on digital signature.

¥us 9 (Section-C)
dre S<g U9 (Long Answer Type Questions) 5x5=25
$TIT | MY FIT AT € ? $exe B HY AMRT STAT BT
oI BT |
What do you understand by internet ? Describe some general uses of
the internet.

31erar ,OR
S—Hd W1 2 ? $—Hd UICIdlicd Bl FHeMsy |
What is e-mail ? Explain various e-mail protocols.
ATTATIS ISl H e & HY SUAN BT I B |
Describe some uses of the internet in commerical organizations.
3erar/OR
ARA H §—MHA H FHAY & R H [IdFT DI |

Discuss about transition to E-commerce in India.

= 9 9 fbgl a1 wR fewolt ferRag—

(i) P D AUIRS AlS

(i) e Hisd

(i) SIS Afed

Write note on any two of the following :

(1) Bussiness models for E-commerce

(11) Subseription Model
(i) Brokerage Model
SIS TIER AlSd ®I AR |

Explain browsing behaviour model.

0C-310-S
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B.Com. II Year , Supplementary Exam 2020-21
Subject - Computer Application
Paper - 11
(Relational Database Management System)
M.M. 40

e : T U= B DIt |
Note : Attempt all questions.
Yus '3'(Section-A)
JEIfS ¥ (Objective Type Questions)
1. wEl fddey Ay : 1x5=5
Choose the correct option :

(i) s Rerere Areed # Rered o1 uRerfda farar sar 2 -

(@)  <we™ (b)  TIeIeH
(©)  ederq d ™

In arelational model, relations are termed as :

(a) Tuples (b) Attributes
(c) Tables (d) Rows

(i)  smUSc HATS fordl g% © -

Anupdate command is written in :

(@) DDL (b) DML
(c) DCL (d  Allof above (Sad &)
(i)  SETHTH Bl w T
(@) I (b) Rerem
(c) ThiH (d) Null
.......................... is the structure of DBMS :
(a) Table (b) Relation
(©) Scheme (d) Null
(iv) ST & A I 99 Rele = Bl /1 ded & :
(a) Tl ReeE (b)  Ifria Rereq
(c) <9 (d) Reoa arsa
Single relation formed from the global view of data is called :
(a) Global relation (b) Universal relation
(©) Table (d) Relational model

0C-311-S
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XholR Bhael Bl [Aford & Fad © ¢

(@) RS (b) R

(c)  FaxEd (d) S
Scaler functions can be divided into :

(@) Numeric (b) String

(©) Conversion (d) All of above

¥us ‘Y’ (Section-B)
oY S<NIg 99 (Short Answer Type Questions)  2x5= 10

STered fiwed @ faeivarg garsy |

Write features of database system.
3frqr/OR

Seed H# Re® iR de @ aran S |

Discuss Risks and Cost of database.

USRS $I HSTY TAT 39D UHR gy |

Explain attributes and write it types.
3frqr/OR

BT SICTIY [STgT & I5ed ALY |

Explin purpose of conceptual database design.

Releddl Tetordm @1 8° SHs UdR fafay |

What is relational algebra? Write its types.
31erar /OR

184 (Join) FT 8? 9@ UHR feTRay |

What is Join? Write its types.

DBA @1 87 DBA &1 &1 94318 |

What is DBA? Explain role of DBA.
3ferqr/OR

HISSl AR BT AHSST |

Explain File opertions.

STeT T8Y ¥ a1 3ef 77

What do you mean by data type?
3frqr/OR

SQL * Plus &1 87 39! fderyarg foriay |

What is SQL * Plus? Write its features.
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10.

I1.

3)
¥vs 9 (Section-C)
" SR 999 (Long Answer Type Questions) 5x5=25

fRfadd, Aeas Ud Relsdd Seed # Sfed Serervr Afed srar
ENIERNE
Discuss difference between hierarchical network & reltional database
with suitable example.
31erdar ,OR
STCT A8 &1 SARAT HINTY T SYART fe1fRay |
Discuss data model and write use of it.
DDLC &1 fad =grear $Ifom |
Discuss DDLC in details.
31erar ,OR
TRATATS SR & UBRI Bl ISTERVT Afed IRAT HIRTT |
Discuss types of normalisation with example.
STCTSRT HTYT &1 RS BHIFOTY TAT STSTT HINT & AT D BIIETHATA
a1 forRau |
Discuss databse languages and write an essential functionalities of the
database language.

31erar /OR
{71 3Tl T IETEROT Wied WHEISY
(a) NEICED (b)y U
(c) @RI (d) 3R
Explain following commands with example :
(@) Roll back (b) Grant
(c) Create (d) Alter

STCIO™ &I FRefT TT Jgusar | w1 3fef 27?
What do you mean by database security and intigrity?
3fergr/OR
Sered Repe] qm dehard fRieed T gRHIiYd ifory |
Define database recovery and backup system.
STeT 18U Ud dRiugerq &1 8?2 SQL * Plus STCTdd &1 AHSTSY |
What is database and variables? Explin SQL * Plus database.
3frar/OR
ST BT AT 87 NP H Sl B¢~ & oidel 918V |
What is data constraint? Give levels of data constraint in Oracle.
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